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 1. iz’u&iqfLrdk dks rc rd u [kksysa tc rd vkils dgk 

u tk,A 

2. The booklet contains 60 questions. 
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provided and not in the question booklet. If 

more than 50 questions are attempted by 

student, then the first attempted 50 
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vU; izdkj dh deh gks  rks mls rqjUr cny ysaA 
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1. leqnzh ty dk ijkorZu lwpdkad {kkjh;rk ds 

lkFk 
---------------------

 gSA 

 
1. Refractive index of ocean water .............. 

with salinity. 

(A) c<+rk  (A) Increases 

(B) ?kVrk  (B)  Decreases 

(C) dksbZ izHkko ugha gksrk  (C)  No effect 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

2. buesa ls dkSu&lk i`Foh ij fLFkr fdlh oLrq 

dh igpku djkrk gS \ 

 
2. Which does identify the objects on the 

earth surface ? 

(A) flXuspj  (A) Signature 

(B) jsfM;ksesfVªd =qfV  (B)  Radiometric error 

(C) ok;qe.Myh; f[kM+dh  (C)  Atmospheric window 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

3. lqnwj laosnu rduhdh dk;Z djrh gS % 
 

3. Remote sensing technique works on  

the : 

(A) /ofu rjaxksa ij  (A) Sound waves 

(B) fo|qr rjaxksa ij  (B)  Electric waves 

(C) fo|qrpqEcdh; rjaxksa ij  (C)  Electromagnetic waves 

(D) mi;qZDr lHkh ij  (D)  All of the above 
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4. Mh- vks- ,l- dk iwjk uke fyf[k;s % 
 

4. Write the full form of D. O. S. : 

(A) foKku foHkkx  (A) Department of Science 

(B) e`nk foHkkx  (B)  Department of Soil 

(C) varfj{k foHkkx  (C)  Department of Space 

(D) lkekftd foKku foHkkx  (D)  Department of Social Science 

5. vkbZ- ,l- vkj- vks- dk iwjk uke fyf[k;s % 
 

5. Write the full form of I. S. R. O. : 

(A) Hkkjrh; lekt foKku ‘kks/k laLFkku  (A) Indian Social Science Research 

Organization 

(B) Hkkjrh; e`nk foKku ‘kks/k laLFkku  (B)  Indian Soil Science Research 

Organization 

(C) Hkkjrh; varfj{k ‘kks/k laLFkku  (C)  Indian Space Research 

Organization 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

6. bulsV dk iwjk uke fyf[k;s % 
 

6. Write the full form of INSAT : 

(A) Hkkjrh; jk”Vªh; mixzg iz.kkyh  (A) Indian National Satellite System 

(B) Hkkjrh; jk”Vªh; e`nk ,oa d`f”k tk¡pdsUnz  (B)  Indian National Soil and 

Agriculture Testing 

(C) Hkkjrh; varfj{k mi;ksx rduhdh  (C)  Indian Space Application 

Technology 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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7. vkbZ- vkj- ,l- dk iwjk uke fyf[k, % 
 

7. Write the full name of IRS : 

(A) Hkkjrh; lqnwj laosnu mixzg  (A) Indian Remote Sensing Satellite 

(B) Hkkjrh; lqnwj laosnu laosnd  (B)  Indian Remote Sensing Sensors 

(C) Hkkjrh; lqnwj laosnu iz.kkyh  (C)  Indian Remote Sensing Systems 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

8. Hkkjrh; lqnwj laosnu laLFkku fLFkr gS % 
 

8. Indian Institute of Remote Sensing is 

located at : 

(A) gSnjkckn esa  (A) Hyderabad 

(B) nsgjknwu eas  (B)  Dehradun 

(C) vgenkckn eas  (C)  Ahmedabad 

(D) ubZ fnYyh eas  (D)  New Delhi 

9. ,u- vkj- ,l- lh- fLFkr gS % 
 

9. N. R. S. C. is located at : 

(A) gSnjkckn eas  (A) Hyderabad 

(B) vgenkckn esa  (B)  Ahmedabad 

(C) nsgjknwu esa  (C)  Dehradun 

(D) dksydkrk eas  (D)  Kolkata 

10. vUrfj{k mi;ksx dsUnz fLFkr gS % 
 

10. Space Application Centre is situated at : 

(A) vgenkckn esa  (A) Ahmedabad 

(B) gSnjkckn eas  (B)  Hyderabad 

(C) nsgjknwu esa  (C)  Dehradun 

(D) eqEcbZ esa  (D)  Mumbai 
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11. ih- ,l- ,y- oh- dk iwjk uke fyf[k;s % 
 

11. Write the full form of P. S. L. V. : 

(A) iksyj lSVsykbV ykUp Oghdy  (A) Polar Satellite Launch Vehicle 

(B) ikWiqyj lSVsykbV ykUp Oghdy  (B)  Popular Satellite Launch Vehicle 

(C) iSfuUlqyj lSVsykbV ykUp Oghdy  (C)  Peninsular Satellite Launch Vehicle 

(D) iSlsatj lSVsykbV ykUp Oghdy  (D)  Passenger Satellite Launch Vehicle 

12. th- ,l- ,y- oh- dk iwjk uke fyf[k, % 
 

12. Write the full form of G. S. L. V. : 

(A) th;ksÇlØksul lSVsykbV ykUp Oghdy  (A) Geosynchronous Satellite Launch 

Vehicle 

(B) xzkm.M lSVsykbV ykUp Oghdy  (B)  Ground Satellite Launch Vehicle 

(C) Xykscy lSVsykbV ykUp Oghdy  (C)  Global Satellite Launch Vehicle 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

13. vkdk’k dh vk¡[k dks dgrs gSa % 
 

13. The eye of sky is known as : 

(A) mixzg  (A) Satellite 

(B) ok;q;ku  (B)  Aeroplane 

(C) pUnzek  (C)  Moon 

(D) mi;qZDr lHkh  (D)  All of the above 

14. i`Foh dk izkd`frd mixzg gS % 
 

14. The natural satellite of earth is : 

(A) pUnzek  (A) Moon 

(B) mixzg  (B)  Satellite 

(C) ok;q;ku  (C)  Aircraft 

(D) mi;qZDr lHkh  (D)  All of the above 
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15. i`Foh ij ÅtkZ dk eq[; lzksr gS % 
 

15. The main source of energy on the earth 

is : 

(A) lw;Z  (A) Sun 

(B) pUnzek  (B)  Moon 

(C) cYc  (C)  Bulb 

(D) mi;qZDr lHkh  (D)  All of the above 

16. bUnz/kuq”k esa dqy fdrus jax gksrs gSa \ 
 

16. How many colours are there  in rainbow ? 

(A) 5  (A) 5 

(B)  7  (B)  7 

(C)  9  (C)  9 

(D)  10  (D)  10 

17. izkFkfed jax gS % 
 

17. The primary colour is : 

(A) uhyk  (A) Blue 

(B) gjk  (B)  Green 

(C) yky  (C)  Red 

(D) mi;qZDr lHkh  (D)  All of the above 

18. i`Foh dks gS % 
 

18. Earth is also known as : 

(A) uhyk xzg  (A) Blue planet 

(B) gjk xzg  (B)  Green planet 

(C) yky xzg  (C)  Red planet 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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19. yky xzg dgrs gSa % 
 

19. The red planet is : 

(A) eaxy  (A) Marsh 

(B) pUnzek  (B)  Moon 

(C) i`Foh  (C)  Earth 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

20. lqnwj laosnu mi;ksx dsUnz ¼m- iz-½ fLFkr gS % 
 

20. Remote Sensing Application Centre 

(U. P.) is located at : 

(A) y[kuÅ esa  (A) Lucknow 

(B) uks;Mk eas  (B)  Noida 

(C) vkxjk esa  (C)  Agra 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

21. izdk’k dk osx gksrk gS % 
 

21. The speed of light is : 

(A) 3 × 10
8
 eh-@ls-  (A) 3 × 10

8
 m/s 

(B) 3 × 10
9
 eh-@ls-  (B)  3 × 10

9
 m/s 

(C) 3 × 10
3
 eh-@ls-  (C)  3 × 10

3
 m/s 

(D) 3 × 10
5
 eh-@ls-  (D)  3 × 10

5
 m/s 

22. izFke Hkkjrh; mixzg gS % 
 

22. India’s first satellite is : 

(A) vk;ZHkV~V  (A) Aryabhatt 

(B) HkkLdj  (B)  Bhaskara 

(C) ck.kHkV~V  (C)  Banbhatt 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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23. izfrfcEc O;k[;k dk rRo gS % 
 

23. The element of image interpretation is : 

(A) vkd`fr  (A) Shape 

(B) vkdkj  (B)  Size 

(C) izfr:i  (C)  Pattern 

(D) mi;qZDr lHkh  (D)  All of the above 

24. th- ih- ,l- dk izHkkx gS % 
 

24. The segment of GPS is : 

(A) vUrfj{k izHkkx  (A) Space segment 

(B) fu;a=.k izHkkx  (B)  Control segment 

(C) mi;ksxdrkZ izHkkx  (C)  User segment 

(D) mi;qZDr lHkh  (D)  All of the above 

25. ok;q vk/kkfjr IysVQkWeZ dk mnkgj.k gS % 
 

25. The example of air based platform is : 

(A) ekW’k  (A) Mos 

(B) MdksVk  (B)  Dakota 

(C) yh’k&II  (C)  Liss-II 

(D) yh’k&III  (D)  Liss-III 

26. best dh lcls NksVh bdkbZ gS % 
 

26. The smallest unit of an image is : 

(A) ,Dly  (A) Axel 

(B) fiDly  (B)  Pixel 

(C) esxk fiDly  (C)  Mega Pixel 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 



 

SSAC-5010 ( 10 )  Set-B 

27. buesa ls dkSu&lk foHksnu dk izdkj ugha gS \ 
 

27. Which one is not a type of resolution ? 

(A) /kjkryh; foHksnu  (A) Spatial resolution 

(B) LiSDVªy foHksnu  (B)  Spectral resolution 

(C) VsEiksjy foHksnu  (C)  Temporal resolution 

(D) isfjQsjy foHksnu  (D)  Periferal resolution 

28. bUnz/kuq”k gksrk gS % 
 

28. The rainbow is : 

(A) iwjk xksyk  (A) Full circle 

(B) vk/kk xksyk  (B)  Half circle 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

29. vk;ZHkV~V mixzg dk iz{ksi.k fdl o”kZ fd;k 

x;k Fkk \ 

 
29. Aryabhatt satellite launched in the year : 

(A) 19 vizSy] 1974  (A) 19 April, 1974 

(B) 19 vizSy] 1975  (B)  19 April, 1975 

(C) 19 vizSy] 1976  (C)  19 April, 1976 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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30. dkSu&lk best izkslsflax lkW¶Vos;j  

gS \ 

 
30. Which is image processing  

software ? 

(A) bjMkl&8-4  (A) Erdas-8.4 

(B) bZ- ,u- oh- vkbZ-  (B)  ENVI 

(C) ft;ks best  (C)  GEO IMAGE 

(D) mi;qZDr lHkh  (D)  All of the above 

31. vkdZ&th- vkbZ- ,l- mRikn gS % 
 

31. Arc-GIS is product of : 

(A) bZljh dk  (A) ESRI 

(B) ,y- lh- th- ,- ,l- dk  (B)  LCGAS 

(C) okfudh foHkkx] dukMk dk  (C)  Department of Forestry, Canada 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

32. ek’kZ vkfcZVj fe’ku dks vkSj D;k dgrs gSa \ 
 

32. The Marsh Orbiter Mission is also called 

as : 

(A) eaxy ;ku  (A) Mangal Yan 

(B) xxu ;ku  (B)  Gagan Yan 

(C) i`Foh ;ku  (C)  Prithvi Yan 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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33. bljks dh LFkkiuk fdl o”kZ gqbZ \ 
 

33. ISRO was established in which year ? 

(A) 15 vxLr] 1949  (A) 15 August, 1949 

(B) 15 vxLr] 1959  (B)  15 August, 1959 

(C) 15 vxLr] 1969  (C)  15 August, 1969 

(D) 15 vxLr] 1979  (D)  15 August, 1979 

34. bljks dk eq[;ky; gS % 
 

34. The headquarters of ISRO is : 

(A) eqEcbZ  (A) Mumbai 

(B) gSnjkckn  (B)  Hyderabad 

(C) csaxyq#  (C)  Bengaluru 

(D) psUubZ  (D)  Chennai 

35. pUnz ;ku&1] 22 vDVwcj] 2008 dks fdl ;ku 

}kjk iz{ksfir fd;k x;k Fkk \ 

 
35. Chandrayaan-1 launched on 22 October, 

2008 by launch vehicle : 

(A) ih- ,l- ,y- oh-&lh 10  (A) PSLV-C 10 

(B) ih- ,l- ,y- oh-&lh 11  (B)  PSLV-C 11 

(C) ih- ,l- ,y- oh-&lh 12  (C)  PSLV-C 12 

(D) ih- ,l- ,y- oh-&lh 13  (D)  PSLV-C 13 

36. viksyks fe’ku lEcfU/kr gS % 
 

36. Apollo Mission is related to : 

(A) pUnzek ls  (A) Moon 

(B) eaxy ls  (B)  Marsh 

(C) cq) ls  (C)  Mercury 

(D) ‘kfu ls  (D)  Saturn 
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37. bl le; bljks dk v/;{k dkSu  

gS \ 

 
37. Who is the current chairman of  

ISRO ? 

(A) ds- flou  (A) K. Sivan 

(B) ,- ,l- fdj.k dqekj  (B)  A. S. Kiran Kumar 

(C) th- ek/kou uk;j  (C)  G. Madhavan Nayar 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

38. foØe yS.Mj fdlls lEcfU/kr Fkk \ 
 

38. Vikram Lander was related to : 

(A) pUnz ;ku&1  (A) Chandrayaan-1 

(B) pUnz ;ku&2  (B)  Chandrayaan-2 

(C) pUnz ;ku&3  (C)  Chandrayaan-3 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

39. vkbZ- vkj- ,u- ,l- ,l- dk iwjk uke fyf[k, % 
 

39. Write the full form of IRNSS : 

(A) Hkkjrh; {ks=h; uSogu mixzg iz.kkyh  (A) Indian Regional Navigation 

Satellite System 

(B) Hkkjrh; lqnwj laosnu uSogu mixzg 

iz.kkyh 

 (B)  Indian Remote Sensing Navigation 

Satellite System 

(C) Hkkjrh; uSogu mixzg iz.kkyh  (C)  Indian Navigation Satellite System 

(D) mi;qZDr lHkh  (D)  All of the above 
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40. dkSu&lk mixzg iz{ksi.k ;ku Hkkjrh; gS \ 
 

40. Which satellite launch vehicle is of 

India ? 

(A) ,- ,l- ,y- oh-  (A) ASLV 

(B) ih- ,l- ,y- oh-  (B)  PSLV 

(C) th- ,l- ,y- oh-  (C)  GSLV 

(D) mi;qZDr lHkh  (D)  All of the above 

41. lrh’k /kou vUrfj{k dsUnz ¼,l- Mh- ,l- lh-½ 

lgkj fLFkr gS % 

 
41. Satish Dhavan Space Centre (SDSC) 

SHAR is located at : 

(A) JhgfjdksVk] vkU/kz izns’k eas  (A) Shri Hari Kota, Andhra Pradesh 

(B) dksVk] jktLFkku eas  (B)  Kota, Rajasthan 

(C) csaxyq#] dukZVd esa  (C)  Bengaluru, Karnataka 

(D) eqEcbZ esa  (D)  Mumbai 

42. Hkkjr us pUnzek ij dqy fdrus fe’ku Hksts \ 
 

42. India has send how many missions to 

moon ? 

(A) 1  (A) 1 

(B)  2  (B)  2 

(C)  3  (C)  3 

(D)  4  (D)  4 

43. uklk ,d vUrfj{k laLFkk gS % 
 

43. NASA is a space agency of : 

(A) ;w- ,l- ,- dh  (A) U. S. A. 

(B) dukMk dh  (B)  Canada 

(C) :l dh  (C)  Russia 

(D) tkiku dh  (D)  Japan 
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44. th- ,l- vkbZ- dk iwjk uke fyf[k;s % 
 

44. Write the full form of GSI : 

(A) Hkkjrh; HkwoSKkfud losZ{k.k  (A) Geological Survey of India 

(B) Hkkjrh; HkwxzkfQd losZ{k.k  (B)  Geographical Survey of India 

(C) Hkkjrh; lkekU; losZ{k.k  (C)  General Survey of India 

(D) Hkkjrh; tehuh losZ{k.k  (D)  Ground Survey of India 

45. ,u- ch- ,l- ,l- vkSj ,y- ;w- ih- dk 

eq[;ky; gS % 

 
45. The headquarters of NBSS and LUP is : 

(A) ukxiqj  (A) Nagpur 

(B) dksydkrk  (B)  Kolkata 

(C) csaxyq#  (C)  Bengaluru 

(D) ubZ fnYyh  (D)  New Delhi 

46. lqnwj laosnu ,d vuks[kk foKku gS D;ksafd ;g 

iznku djrk gS % 

 
46. Remote sensing is a unique science 

because it provides : 

(A) laf{kIr fooj.k  (A) Synoptic view 

(B) fo’ks”k tkudkjh  (B)  Special information 

(C) csgrj tkudkjh  (C)  Superior information 

(D) xqIr tkudkjh  (D)  Encrypted information 

47. best ij fiDly dk vkdkj gksrk gS % 
 

47. The shape of a pixel of an image is : 

(A) vk;rkdkj  (A) Rectangular 

(B) xksykdkj  (B)  Circular 

(C) pkSdksj  (C)  Square 

(D) f=Hkqtkdkj  (D)  Triangular 
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48. izfrfcEc dk leLr vkdkj gksrk gS % 
 

48. Overall shape of an image is : 

(A) vk;rkdkj rFkk pkSdksj  (A) Rectangular and square 

(B) xksykdkj rFkk f=Hkqtkdkj  (B)  Circular and triangular 

(C) pkSdksj rFkk xksykdkj  (C)  Square and circular 

(D) f=Hkqtkdkj rFkk vk;rkdkj  (D)  Triangular and rectangular 

49. vf/kd DyksjksfQy ds lkFk ouLifr vf/kd 

ijkofrZr djsxk % 

 
49. Vegetation with more chlorophyll will 

reflect more : 

(A) vYVªkok;ysV buthZ  (A) Ultravoilet energy 

(B) bfeVsM buthZ  (B)  Emitted energy 

(C) uh;j&bUÝkjsM  (C)  Near-infrared 

(D) FkeZy&bUÝkjsM  (D)  Thermal-infrared 

50. fuf”Ø; laosnd dkSu&lh ÅtkZ mi;ksx djrk 

gS \ 

 
50. A passive sensor uses which energy ? 

(A) lw;Z ,d ÅtkZ dk lzksr  (A) Sun as the source of energy 

(B) ¶yS’kykbV ÅtkZ dk lzksr  (B)  Flashlight as a source of energy 

(C) viuh [kqn dh ÅtkZ dk lzksr  (C)  Its own source of energy 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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51. best ij fdlh oLrq vFkok fp= dh igpku 

djus dks dgrs gSa % 

 
51. Identifying the object/feature on image is 

called : 

(A) best b.VjfizVs’ku  (A) Image interpretation 

(B) best oxhZdj.k  (B)  Image classification 

(C) best c<+kuk  (C)  Image building 

(D) best cukuk  (D)  Image preparation 

52. th- ih- ,l- dk iwjk uke fyf[k;s % 
 

52. Write the full form of G. P. S. : 

(A) xwxy iksft’kfuax flLVe  (A) Google Positioning System 

(B) Xykscy iksft’kfuax flLVe  (B)  Global Positioning System 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

53. th- vkbZ- ,l- dk iwjk uke fyf[k;s % 
 

53. Write the full name of G. I. S. : 

(A) HkkSxksfyd vUr%fØ;k iz.kkyh  (A) Geographic Interaction System 

(B) vPNh lwpuk iz.kkyh  (B)  Good Information System 

(C) HkkSxksfyd lwpuk iz.kkyh  (C)  Geographic Information System 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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54. 1 uSuksehVj cjkcj gksrk gS % 
 

54. 1 nanometer is equal to the : 

(A) 10
9
 eh-  (A) 10

9
 m 

(B) 10
9
 eh-  (B)  10

–9
 m 

(C) 10
6
 eh-  (C)  10

–6
 m 

(D) 10
8
 eh-  (D)  10

–8
 m 

55. ikS/kksa esa ukbVªkstu dh deh gksuk % 
 

55. A reduction of nitrogen nutrient in plants : 

(A) ifŸk;ksa dk jax izHkkfor gksuk  (A) affects leaf colour 

(B) fixesUV~l dh ek=k esa deh gksuk  (B)  reduces pigment concentration 

(C) n`’; ijkorZu dk c<+uk  (C)  increase the visible reflectivity 

(D) mi;qZDr lHkh  (D)  All of the above 

56. i`Foh ls HkwLFkSfrd mixzg dh Å¡pkbZ gksrh gS 

yxHkx % 

 
56. The altitude distance of a geostationary 

satellite from the earth is about : 

(A) 26000 fdeh-  (A) 26000 km 

(B) 30000 fdeh-  (B)  30000 km 

(C) 36000 fdeh-  (C)  36000 km 

(D) 44000 fdeh-  (D)  44000 km 

57. th- ih- ,l- mixzg dh lkekU; Å¡pkbZ gksrh gS 

yxHkx % 

 
57. The normal altitude of G. P. S. satellite is 

about : 

(A) 16200 fdeh-  (A) 16200 km 

(B) 20200 fdeh-  (B)  20200 km 

(C) 24400 fdeh-  (C)  24400 km 

(D) 36100 fdeh-  (D)  36100 km 
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58. Qly dk jdck rFkk mRiknu vuqeku 
---------------------

}kjk iksf”kr ifj;kstuk gSA 

 
58. The crop acrage and production 

estimation project was funded by ......... . 

(A) ;w- ,l- ,-  (A) U. S. A. 

(B) ;wjksfi;u ;wfu;u  (B)  European Union 

(C) :l  (C)  Russia 

(D) Hkkjr  (D)  India 

59. th- vkbZ- ,l- fdl izdkj ds vk¡dM+s ds lkFk 

dk;Z djrk gS \ 

 
59. G. I. S. deals with which kind of data ? 

(A) la[;kRed vk¡dM+k  (A) Numeric data 

(B) ckbujh vk¡dM+k  (B)  Binary data 

(C) LFkkuh; vk¡dM+k  (C)  Spatial data 

(D) ladh.kZ vk¡dM+k  (D)  Complex data 

60. fuEufyf[kr esa ls dkSu&lk iw.kZ :i ls  

th- vkbZ- ,l- iSdst gS \ 

 
60. Which of the following is full-flaged 

G. I. S. package ? 

(A) vkbZ- ,y- MCY;w- vkbZ- ,l-  (A) ILWIS 

(B) th;ks&ehfM;k  (B)  Geo-Media 

(C) vkdZ&th- vkbZ- ,l-  (C)  Arc-GIS 

(D) mi;qZDr lHkh  (D)  All of the above 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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